(3 Hours)
NB: (1) Question no 1 is compulsory.
(2) Solve any three from remaining five.
(3) Draw neat diagrams wherever required.
(4) Assume suitable data if required.
1. (a) What are the components of sensor nodes?
(b) Explain CSMA/CA technique

Subscriber usage per month: 150 minutes
Days per month: 24
Busy hours per day: 6
Allocated spectrum: 4.8 MHz
Frequency reuse. pléﬁ:— 4/12 ,
RF channel width: ZQQ kHz (full rate)

Subscn"ber growth per year: 5%
thwork roll-over period: 4 years

Packet size (NBP): 480 bytes

Per_lctratlon of data subscribers: 25% !

Data rate of each subscriber: 48 kbps

Packet transmission time: 10 s ‘

2. (a) Using the following data for a GSM network, estimate the voice and data t

Present number of subscribers in a zone: 50,000

Number of packet calls per session (NPCSJ 5 (see Figure)
Number of packets within a packet call (NPP): 25
Reading time between packet ¢alls (77t 130 §
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[Total Marks: 80]

(c) Explain the concept of trusted device with refcrence to Bluetooth

(d) Discuss two evolution paths for the GSM to offer 3G services,

raffic

per subscriber. If there are 40 BTS sites, calculate voice and data trafﬁc per cell.

Time mtcrva[ between two packets inside é packet call (7int): 0.01 s
Total packet service holding time during one hour (Ttot): 3000 s
Busy hour packet sessions per subscriber- 0 15
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Packet Session Time

Packet Arrival Interval

Fig: Packet session

(b) Explain the ZigBee technology. Discuss different network topologies that are
supported in ZigBee.

3. (a) Discuss WiMAX in detail and compare its performance with Wi-fi
(b) Explain link budget analysis and requirements of wireless Network
4. (a) Explain transmit diversity present in forward link of Cdma 2000 |
(b) What are sensor network management design issues? Elaborate any one with
example
5.(a) Explain.quetooth securi.ty features and Give its protocol architecture
(b) Draw thé nea_f block diagram of UMTS architecture Explain all interfaces.
6. Write short note on
(a) HSDPA

(b) RFID
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NB: 1) Question number 1 is compulsory o>

2) Answer any three questions out of remaining quesﬁoqs
3) Answer the questions with suitable diagrams
4) Assume suitable data wherever necessary

1 Answer any Five-
(@) Why the “Earth sensors’
satellites?
(b)  Why a multi-beam antenna is used‘ sa
(¢)  For the same area of solar array wh;'i‘ urati
body stabilization, generate ;yorem\ver;“,iﬁgiify" ;
G)) D:ﬁ"erentlat between wmd‘bw &zﬁ‘am&ptg

affectmg satellite opQranon'

satellite?
(b) Discuss mgde\ta
dlagram

2  (a) Whatare the dxffergnt anterma ‘trackis g;&ﬁﬁxqges '01‘ gmsmuonmy 10

@gééssary block 10

next.to. Antenna Calculate over all 10
in 25 db & [C/N], downlink = 20db

4 (a) DmcussDe‘sagm

txon Draw the block diagram 10
~ for Transmit.an

on an exp]am.

R (h) Comgare Pre- as 05
NG ¥ fﬂ) ; xlzla '[DBM ; 05
'-".-_f‘_i ".—:'" (al : E”xplatm) ) oﬁnechv;ty with Transpa.rent processing. 10
1 Ab). D;scuss OSI ﬁ qub]h‘tes Network also discuss layering principle. 05

i (g) Wl;y,\_ - anlphﬁgr eferred for satellite communication? 05
6 - Wme short notes on. any Fom-- 20

Gphcalmdlﬁg«’rransmltter and receiver
Comparison of DS-CDMA, FH-CDMA and TH-CDMA.
Launchin Mechanism

i

= ga’) (

and space qualification test

3321695B20842B155E05 3B1185B40A28




i

(3 Hours)

N.B.:
(a) Question No.1 is compulsory.
(b) Total 4 questions need to be solved.
(c) Attempt any three questions from remaining five q stions.
(d) Assume suitable data wherever necessary, justlfy the: same.

1.a  Explain any one method to improve QoS.
1b In the TCP state transition diagram, why dc

why is its value equal to 2MSL?
l.c Why SSH is preferred over TELNET? Eg;&mn ’

1.d  Explain the fields that are related to
datagram. o

(10]

[10] ;

3.a  Explain how TCP cOntl‘e?s [10]
An ISP is grantgd’ aagack qf [10]

[10]

[10]

[10]

[10]

.- Discuss the di Atxypes of addresses used in the TCP/IP protocol. {51 1]
b *T\l}ertraﬁ"s”' zlayer is responsible for process-to-process delivery of the  [5]

¢ntire iessage. Justify your answer.
Bx@c@%ﬁ’g}l operation when the client and server are on the same  [5] |
muw ‘15» or-on different networks.

Blgius%ﬁle two message access agents in brief [5] -
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(3 hours)
Note the following instructions.
(a) Question No. 1 is compulsory.
(b) In all four questions to be attempted.
(c) Figures to right indicate full marks.

1.a

L.b

l.c

the function of each block.

1.d Explain with related equation -
a. Short-Time Energy = -
b. Short-Time Zero- Crossi“ng Rate

2.a Explain how short time en.ergy (SIE) and sh \rt ﬂme magnitude (STM) can be [8]
used to distinguish vogceﬂ unv‘mced;and silem:e gegions of a speech slgnal

2.b Classify the speech SOund_,units. Explain‘how the

: eech Qrgmis ,are shaped for [8]
speaking the resp&:tive speech umts S

Draw and c;xplam the dlscreje tlme ddel of - cai tract and the discrete time [10]
radfation ;no&el qf speech p‘roduction i detail.

18]
7

(51
(5]

(71

'5. c Whg is CELP" 4 ow is coﬂe book generated for CELP? What are limation of [8]
oA --CELP? What are modlficatlons suggested in the basic CELP coder?

171
i51

(8]
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You are administering the 24000 workstatgons m an mganlzation You are pmging each station 10
periodically. The message size mb\olh vdwectlons is 128 Eytes Iong. The NMS you-are using is

on a 10-Mbps LAN, which functlens wnth 30% efﬁaency. What would be the frequency of your

ping if you were not to exceed 5% overhead? = e k&

10
With respect to ISOIGSI natworlc management‘ Descnbe folquing terms 10
i.  Scoping and Flltermg LS AF N
ii. Linked Replles Sy AT
ii. GDbmMO - e
iv. ACSE and ROSJ:'\ SESESENIY
b) Draw a neat dlagram of TMN functtonal\ami;]tecture w1th interfaces ' 10
a) LISt and deScribe RMONZ MJB Group;and their functlons 10
iy \ 10
What is Asm 1? Explam Ln deta"fl T 10
> Draw and descrlbe SNMP message and PDU formats. 10
.‘__\- 5 S |
Explam the ssgmfmnce of Trap Descnbe the different types of traps. - 10
2 \Vhat is A’f M Network management“? ; 10
> ¥ ‘\' '_\y‘ R
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[Time: Three Hours] : 5 [ Marks 80]
Please check whether you have got the nght questmn paper i o
N.B: 1. Q.1iscompulsory { ~\ B S _,",/ =
2. Solve any three questions out of remaming ey Pt \
3. Assume suitable data if necessary statmg it clear{y N
What is OMAP in network management? S SR A o 05
What is MIB? "; f\__{w_‘_ : T S Sy 05
Compare between SNMPv1 and 5NMPV3? g IV ey Dy T 05
Describe Code Book Reasoning based even(correlation technquBT SR aE 05
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